1-
In the sorted array list dictionnary (SALDIC.cpp) we replace the main as follow:

void main()

{Employee e;

SALdict <int,Employee,IDEmpCompare, IDCompare> EmpDict1(20);

EmpDict1.insert(Employee(15,"e1"));

EmpDict1.insert(Employee(2,"e2"));

EmpDict1.insert(Employee(30,"e3"));

EmpDict1.insert(Employee(14,"e14"));

cout<<EmpDict1.size()<<endl;

EmpDict1.find(2,e);

cout<<e.name<<endl;

EmpDict1.remove(30,e);

cout<<e.name<<endl;

cout<<EmpDict1.size()<<endl;

EmpDict1.removeAny(e);

cout<<e.name<<endl;

cout<<EmpDict1.size()<<endl;

EmpDict1.clear();

cout<<EmpDict1.size()<<endl;

}

All other functions or code remain unchanged. What is the output displayed by the code:
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e-None of the above. 




The answer is:  a-
2-How the function topValue in the array implementation of stacks (Figure 4.24) is 



Implemented if the initial value of top is -1 instead of 0 but having the same result as the 



Implementation done in class:

a-
 bool topValue(Elem& it) const { // Return top element

    if (top == 0) return false;

    else { it = listArray[top-1];  return true; }

  }

b- bool topValue(Elem& it) const { // Return top element

    if (top == -1) return false;

    else { it = listArray[top-1];  return true; }

  }

c- bool topValue(Elem& it) const { // Return top element

    if (top == -1) return false;

    else { it = listArray[top];  return true; }

  }

d- bool topValue(Elem& it) const { // Return top element

    if (top == -1) return false;

    else { it = listArray[top+1];  return true; }

  }

e-None of the above. 


The answer is:  c-

3-
The function pop in the linked implementation of stacks is implemented as follows:

  bool pop(Elem& it) {

    if (size == 0) return false;

    it = top->element;

    Link<Elem>* ltemp = top;


 top =top->next;

    delete ltemp;

    size--;

    return true;

  }

     All other functions or code remain unchanged. What is the second line displayed by the code:

void main()

{ 


LStack<int> s1(10);

  int i;

  for (i=0; i<5;i++)



s1.push(i);

cout<<" Elements popped are:"<<endl;

while(s1.pop(i))  

   cout<<"item popped: "<<i<<endl;

}

a-
item popped: 4

b-item popped: 3

c-item popped: 2


d-item popped: 1

e-None of the above. 




The answer is:   b-

